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1. Evaluate the following integrals.
4
@)/ — dy ==&f 4 dy = j‘éﬁi_f_ —oly
Y (Y=2:y+t2) -2 y+z =

A . B A
Y2 Ytz (y2(yr2) = )@“)Z{"Z’) M«@n[;j-fz.} +(.
]dr::) B = —

e N
U

=ZyZ Y / = 7 ¢
U=3x"+5 X=0, y= s 1 é(E—-n)( 5’

A= Exdx  xex (lpm

(c) J{ #*Inzdz

4
— o4 E -
= 22 |nhz _ 4
4 l‘ j;"“? —é.c{’%c
:f‘:‘ € &
28 ~(defdr = Le T u gt e o
g7 “ 4 w |, Tge o
_ 3e 'y 6 I

Page 2 of 8



Science 1 Test 2 — February 27th, 2019 Page 3 of 8

2. Evaluate any three integrals of your choice from the list below. Remember to
include integration constants whenever appropriate. Continue your work on the
next page if you need more space.
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This page has been left blank for your workings and solutions.
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3. Determine whether each of the following integrals is convergent or divergent, and
if convergent find its value. Make sure you justify your claims.
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m 4. Determine (with justification) whether each of the improper integrals converges or

diverges
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